e _
( \‘ AB BA
k\ ;;

N/

LinearTech

Linear VMotion

t e ¢c h n ol o g vy

P W e
e 5 o ’
B
|
A !

.
\
B

LineuarTech
U et

Headquarer =

No. 75 Chung-Shan Rd.,

Tu-Cheng Industrial District, Taipei County, Taiwan
TEL : 886-2-2268-1133

FAX : 886-2-2267-0907

E-mail : abba@abbatech.com.tw

Website : www.abbatech.com.tw

(€)2005.E01-1 ABBA Linear Tech Co., Ltd.All rights reserved.




ABBA Linear Tech, established in 1999, was the first professional linear guideway manufacturer in
Talwan putting patent self-lubricant and four-row linear guldes Into mass production. Having accumulated
18-year experience of making precise ball screws, ABBA Linear Tech possessed critical techniques, comb-
Ined R&D achlevements with National Talwan Universlty of Technology and Sclence, and launched the pr-
oduction successfully in 2000. With several international patents. ABBA is thriving worldwide with its own na-
me and having channels In Talwan, Ching, Koreq, Japan, Europe, Amerlca, etc.

Since the beglnning, ABBA Linear Tech has been making every endeavor on both marketing and product

quality, and was recognized by The Creatlve Innovation Prize, The Rising Star Award, The Natlonal Business

Start-up Award, and The Talwan Symbol of Excellence In 2002 and 2004. Besldes, ABBA obtalned an Inve-

stment approval In accordance with the encouragemsent to significant strategic Industiies by the Industrl-

al Development Bureau of the Minlstry of Economic Affalrs. What ABBA strived for In the past four years has
been Identifled and supported by cllents, suppllers, and the academia.

In 2004 ABBA Linear Tech set up a global operation center and R&D depariment In the Ta-Tung Industral Park fo
devote to the technological resexarch of high-precise transrmission components. Meanwhile, it is always ABBA's spirit
1o offer the best qualliy and professional service In order 1o Integrate the global operation resources, fulfll cllents'
demand, and become a high-class linear guideway supplier within the coming five years.

N ABBA

LinearTech

*®

SYMBOL OF EXCELLENCE
Its Very Well Made In Talwan

A FADQ %

Gy
v
UKAS

LALITY
MANAGEMENT

-3

MO 4 T b )
AT AR BN s Tk Co .
ey f

b s
W R W o Ve L ke

P Va1

1509001:2000 Micates ¢ | Award of Creative Innovation Prize




Agility

Beyond

Brilliant

Ambition

deway

Our Equipments

Ten Characteristics

Four Advantages of Self-Lubricant Block
The Model Code of Linear Guldeway
Interchangeability Notice

Accuracy Selection

Grease Nipple spec
Frictional Reslstance

Our Equlpments
The Model Code of Ball Screw
Technical Information

Unittof Ball Screw:

Support Unit Dimension Tables

all Bearing Series

Linear Ball Bearing Series Dimension Tables

ABBA

LinearTech




®A BEBA

LinearTech

High Precise

CNC Production Equipments




The characteristics and advantages of
ABBA Self-Lubricant Linear Guideway

Ten Characteristics LS00 E P Z1 AT K IT

= Built-in long life lubrication (patent) Two sets per axis
= Equivalent loading capacity in four directions Bottom-Hole Rail(optional design)
=i Smooth running due to new ball re-circulation (patent) Accessory Code

. @ e Preload
= High ng1d1ty : 4-row an-gular c.:ontact ——
= doieemalional BREATY demenelon _ Rail special machining E:w/ No mark:w/o
= High accuracy, Low friction, Low maintenance W Rail length
= High speed, low noise 1%&”: i Block No. per rail

? ., / ‘,: E

= Integral all-round sealing ?V//'é /, : A Flange type
= Interchangeability Type code

= Green production

- Lubr
Four Advantages of Self-Lubricant Block s Eemere——— s T g Erom———

A AL
Advantage1 . BRS; Low assembly B Without flange BL: Long type without flange
BRX Special design [ o Through hole with flange CL: | Long type through hole with flange
AS: Short type with flange BS: | Short type without flange
Maintenance free - No need for frequent CS: | Short type through hole with flange

periodic lubrication or automatic lubrication

size | Accewory Coa
15 A: Nomnal ZF: Clearance

systems. Sl nbeiomnt block ‘With top seal & side seal (applicable to BR20, 25, 30) N:
20 B: | With metal scrappers H: | High Zi: Nopreload
25 C: | With top seal, side seal, and metal scrappers P: | Precision Z1: |Light preload
30 T: | With oil tank on cne end SP: | Superprecision  ZI: Medium preload
s U: | With oil tank on both ends UP: | Ultre-precision ~ Z3: Heavy preload
Advantage2: | - g Fv——
Tkt sdaiebaer - fr 2y caloulutzd life with beavy lond=400km 45
e lond 136 | 9% 14m
. 455km(lifc) gl | Stomis | Hadma | Somis
Heavy Joad -~ E3ES X3 BRH 30 BL 2 1300 P Z0 AT K I
Extended interval i j=n - Y with top seal, side seal, and ol tank on one end.
micrvals N . with top , side seal, oh one
between maintenance. Medinm load O e B Remark : Size 55 is only available in the BC series.
2900km aperstion —+ E Remark : BR35 and BR45 are not equipped with self-lubricant parts.
Light load O ' o
0 500 1000 1500 2000 20000
operation distance(km) s self-tubricated block 5 ;-‘Q ]
W orieas Mibeloacion . The Model Code of ABBA Sieel Cover Stip
Advantage3:
Self-buoricated block |we 10cc FPutced hubrication V.8, SeH-lnbticated hack Quantlty
Curtailing lubrication cost. Farced lubrication 662cc C - Steel Cover Strip, F - Handle, G - Side Cover
Series : BR series, BC series
Advantage4:
No oil leakage concern, easy for cleaning. I3 BR 3 F 2




Inferchangeabllity Notice Accuracy Standard

BRH-A & BRH-AL i
4MQ— w . 1

Tii
< 5L

wzﬁ o o £

T Towreer
qu\j]%%

L Hphes
== 1. Check the mounting height (H)

== 2. Check the mounting width (W)

== 3. Check the block length(L)

== 4. Check the block’s body size (L1)

== 5. Check the hole Diameter and pitches on the block (BXJ)

kn
H
i

FHI— f—FT1 2

_ﬁ

Unit : mm

== 6. Check the rail width(W1) um) 40
== 7. Check the pitch of the rail (F) A | Normal (N}
= 8 Check the hole Diameter and rail size (d X D X k) &5 1l = P | e
== 9. When a specific length is required, please advise the (G) values in your order. AD 20 // //___ : ! Precision (p)
5 10 / / // /ff_______._.-———- Super-Precision (SP)
Accuracy Selection é é::i: s s D P
-0 #1_000 2000 3000 4000

We have five grades for your selection:
Normal/ High/ Precision/ Super-Precision/ Ultra Precision

Application Aecuracy Grade Application Aecuracy Grade

Length of rail{mm}

Fig.1 BR rail length and running parallelism

N H:!P | 3 N H P '
e a EOEOE g £ Otogoal Type 0i0! i i
Lathe ; OO E 2 Multijoint Type 00! ; i ITEM Normal High @ Precision Soper-Precision Ultra-Precision
Milling Machine i ! 5 Wire Bonder oG ™ @) ®) (SF) (UF)
. ; == : 2 R : -
Boring Machine : E Oi &1 NS 4 % Prober i ; Oi O Tolerance of height{H) 01 (o4 0.04 0.02 0.01
< Jig Borer ) e ; Inserter Machine Qi0f | : 0 0 0
o - oioio HE B Dl oioiol | Cniddibiibiiail EOL 2004 g 202 001
=1 Blecto discharpe Machine (EDM) Telel Injegion Molding Muchine ol e Difference of heights( AH) 0.03 002 001 0.005 0.003
£ Paing ras i :0{0; | e , (0O} Diference of widths( W) 003 002 001 0.005 0.003
- cimNaie ] LN QORI 3 EmEA Qi01 Runting parallelism of BR Block |
2 e N T HOSEOIOR B 5 i ) SO S between surface [2] & [¢] AL Refewbip!
NC Drilling Macine Toier c XY Table oioioi | : _
Milling Center 00 E v Painting Machine ®) O E Running parallelism of BR Block AT mebetspir
Packaging Mackine i | i S Wlding Moctine oioi | i ol b B
i of i i Y s 0O
Wis ot Machie ioiol | Digioe oiojoi |
Grining Wheel Michine e Test Eipmens leile s




Suggestion in Assembly Hardness coefficient : fh

For linear motion system, its optimum load carrying capacity

’ l:; is HRC 58 to 64 hardness on the raceways. °
d 5 If the hardness is under HRC 58, both the basic dynamic 88 {
D @G load rating and basic static load rating should be multiplied ooy
i ' \ by hardness coefficient fh. ?
L e —
o ot + {0 .
03 <
0.2 \\,\_
EEE= 3 ===
(Ra) (Hr) rail sheulder | (Hs)block shonlder (Lb) ruggestion
BR-15 4 5 M4*16 80 &0 40 30 20 10
BR-20 0.8 4.5 6 M5*20 N .
BRE 2 6 7 6725 * Temperature coefficlent : ft
BR-30 1.2 8 8 ME*30 L
BR-35 1.2 8.5 9 M8*30 When a linear motion system is subject to temperature above
BR-45 1.6 12 1 M12#40 100C, the temperature factor should be taken into
BR-55 1.6 13 12 M14#45 consideration. 1.0 P
Unit: mm € oe — |
3 —
0.8 "‘“\
Preload grade § o
: When being used in the environment °C, the seals and end
Basic static load rating: CO m Mo shmﬂdban:esumfwhigh wmpera‘u?:v:r ozgra%on. s = R
. . : . -
We d?fme the b S5inistalln IO?d ating €0 as;n Seatlo Toac, of consent Note 2: When used in above 120°C, special treatment should be designed for 100 150 200
magnitude acting in one direction under which the sum of the stabilizing the dimension. )
permanent deformations of rolling elements and raceway equals 0.0001 = 0 Rscoey tampansont )
times of the diameter of the rolling elements. B Frelaad ra 0 Loqd coefficienlll . fw
Basic dynamic load rating: C Lic Erolond zl 0.02C
lpeidenty aar i P oo e i ineing . [ B =7 _ —
independently under the same condition, basic dynamic load rating C is Heavy Preload z 0.07C xiiustony H e
the load of constant magnitude acting in one direction that results in a Mﬁf_};&t:mﬂ At low specd
nominal life of 50 km. or Vibrations Verlsmimin
T ke | | Amalumce 0.5<G<=1.0 1.5~2.0

or Vibrations

Static safety coefficient : fs Refien e of i sty show below Wi e Atbigh spd 1 0<G<=2.0 2.0-3.5
or Vibrations mun

Static safety factor fs is the ratio of the basic static load rating CO

to the load acting on the linear motion system. Steal impact and 1013
ot watiaafotfucinn, Bt Bt Tickin stationery Gmpac o wising o Formula of nominal life : L
CO : basic static load rating =~ MO : static permissible moment Sl impack o twiting —_— ) ) ) . ) ]
P:designload M : design moment N;;Tii? is app! Given tl.le ba§1c. dmc load m.tmg C and the applied load P, the following formulas shows
R tisiig 2.5~5.0 the nominal life L of a linear motion system using steel balls.

Contact coefficient : fc fh* fT* fo C 3
L=( T * 5 ) *50
In lingar motion system, it is hard to obtain identical load distribution

due to moments, errors and other factors on the mounting surfaces. 2 0.31 ) N .

When multiple blocks on a rail are used in close contact, the basic load 3 072 Ié 1 ’;"m”’“l. . sod - ?}j I;“Id“"ss f”tg

ratings C and CO corresponding with contact coefficients are shown 4 0.68 - DasIe 3 ¢ rating : Lemperature factor
5 0.61 P : applied load fc : Contact factor

below. Notml operation 1 fw : Load factor




Grease Nipples

NLAO1 NLBO1 NLCO2 NPAD4 NPC04 NPCO08

Application (15| |20|—|25|— 30| —|38|— |45 |— Applicgtion  [15|— |20| |25| |3s0| |35| |45|— Application  [15|— |20/ —|25| (30| (5] [45]— Application  |15|— |20|— |25|—|30|—|35|—|45 Application (15| — 20 —|25(— 30— 35| —|a5 Application |15\ —|20|—[25| |30 |35 |as
Motal Seraper |15| |20|—|25|—|a0|—|35| —|45|—| | Meil Scraper (15|—|20| (25| |a0| (95| |48|— Motal Scraper [15|— (20 |25| |s0| |3s5| |45|— Metal Seraper 15| — |20 — |25|—|30|— (35| —|45 Metal Scraper 15| —|20| —|26|—|30|—|a6| —|45|— | | Metal Scraper |15 —|20|—|25 30|—§|—45
12 147 a
of? Ll PT18
raL (I e [T~ / 112 L
e k& [ ilil s 5 3 =
= -3 [ —
4@3}7“ \I_ e iz8 5L o F% TL’\W &J El &j |
53 s - / MadL N [ ﬂ;jk
a5 e o \ w v
Y2 S/ j gy i "
NLAO2 NLBO2 NLCO3 NPCO1 NPCO5 NACO1
Application 15| (20| |25|—|30|—|35|— |48 |— Application  |15|— 20| |28| (30| |38 |458|— Application 16| — (20| —|26|— |30 |— (35| —|a5 Applicaion  (15|— (20| —|25|—|30| [a&| |a5|— Application (16| —|20| —|26|— (30| —|36| — |46 Application |16 20| —|26|— (30 |—|35| —|a5|—
Matal Scraper 15| |20| [26|—|30|—|35|— |45|—| | Metal Scraper |15|— |20|— |25|—|30| |85 |45|—| | Metal Scraper |18 —|20|—|25|—|30|—|as[—[4s Metal Scraper [15|— [20|—[28|—[s0] [as] [as[— Matal Scraper [15|—|20|—|25|—|s0|—[a8]| —|as Metal Scrapar 15| —[20]—|25|—|30]—|es| —as|—
186 125 B 1, ; ML
T L5 TH=— e, AR
W ] H) = NP
— = — = o1 Ml Vi D e
Oﬁ = 1 : WL e . NS I
) t MM /\ f 11 [l - 14
k/]l!_ | |
| ol o Bl = e B
Sl \rran
NLAD3 NLBO3 NPAO1 NPCO02 NPC06 NACO02
Application  [15|—|20| |25 (30| |[35|—|4s|— Application 15| |20|—[28| (30| |35 |4s|— Application  |15|— |20|— 25| [30| |35 |a5|— Application  [15)—[z0] 28] [30| [a8] [as]— Application |16 —|20|—|26|— 30| —|38| —|4s Application [16|—|20 |26 [30| [35| 48—
Metal Scraper [15|— [20] —[25]|—|a0] [s5]|—[4s|—| | Metal Scraper [15| [20] [25] [s0]| e8] |as|—| | Metnl Scraper [15|— |20|—|25|—[s0|—|25]—|as]|— Metal Scraper |15|— |20/ —|28] [s0]|—|as]—|as|— Metal Scraper |15] —|20]—|25|—|s0]|—|as| —|4s|—| | Metal Scraper [15] —[20|—|28|—|s0] |es]| [as|—

185

| / e ) PTIA 182

118
1
T

PN

NLAO4 NLBO4 NPAO2 NPCO3 NPCO7
Application (15| — (20— (25| (30| (38| |48|— Applicaton  |15|— (20| — |26 |— |30 |— |35| — |48 Application  15|— (20|— |25— (30|— |35|— |45 Application |16\ —|20|—|26|—|30| (38| |45|— Application |16 —|20|—|26|— (30 |— 36| —|46
Matal Scrapar (15| — |20 % an a5 45 | — Meatal Scrapar 15| — |20| — |25 |— (30 |— (35| — |45 Metal Seraper |15 20|— (25— (30 |— |35|— |45 Metal Scrapar (15| — 20| —|25 30 a5 45| — Matal Scrapar (15| —|20|—|25|— (30| — (35| — |45

| / WRlL | 1 / MBx.0 i =t

73 ) m\

N
%
o flaase
R |
£

Mix1.0P
NI NLCO1 NPAQ3
fApplication  [18|— |20/ — | 20| — |30 R SO AS Application  |16|— 20| |26| |30| |36| |46|— Application (16| [20|—|25|—|30| [38] |[45]|— : = .
Matal Scrapar (15| — 20| — |25 o 35 45 |— Motal Seraper |15|— |20|— |25|— (30 35 45 (— Metal Scraper [15|— 20| —|25|—|s0 35 45— NL GreaseNipple A 0
W of2 NP Plumbing Nipple B 45°
haas, — [ i i
/ — NA Quick joint C 90
5 il
Eﬁ_ B . &3 s NOTE : — Inappropriate
MeL . ’
73 N % f}\ ﬁ Appropriate
Yy [ Shall you have any question , please kindly contact ABBA.
W ? y y q please kindl
PT18




Frictional resistance

The frictional resistance can be calculated in the following formula.
F=u*W+f

F : frictional resistance W : load

u ; coefficient of friction f : seal resistance

u : Coefficient of friction

0.015
@
g
;‘E 0.010
5 \
g \
‘5 \
% 0.005 \\
O N
\“"-—.__
0 0.1 02
Load Ratio (P/C)
P : Load
C : Basic Dynamic Load Rating
f: Seal resistance
Unitkgf
BR 15 03 BR 35 0.7
BR 20 0.4 BR 45 0.9
BR 25 0.4 BR 55 1.0

BR 30 0.5

Lubricant Category

General Environment
- ABBA P/N Application

Temperature-20°C~130°C
2 GNB Load (Medium/Heavy)
Load (Hea
3 GNC (Heavy)

Temperature-20°C~130°C

- ABBAP/N Application

Load (Light/Medium) High speed

1 GCA
Temperature-50°C~150°C~
2 GCB Load (Medium/Heavy) High speed
Temperature-50°C~150°C~
Load (Heavy)
3 GLL Temperature-40°C~200°C




i Lmax

N B

5.4 —]— -TG"

Tl 1k \H i s |
(L [G17
i3 1 I

|
A

. S

E 3 ¥

4+MQ

FHI— T 2
1_

BR block
Model No. (mm)
Ll Oillhole T1
BE 254 24 47 | 16 | 46 | & 38X30 MSXK8 40 $3 43| 5 15 14 60  45X7SX53
BRH20A T =
""" BRHZ0AL 30 63 | 215 5 "'95_'4‘"53140 M5X9 e M6X1 5 65 20 18 60 6X9.5XB.5
BRH25A 58 p=
""" BRHZSAL 36 70 | 235 7 "l'l"ii"m MB8X12 oy Mex1 5 65 |23 2 & TX11X9
BRH30A 109 =
----- SREAT| 2 | P | 3 | 9 gy | Moz oo MEXI |7 |65 28| 26|80 | sxuxD
BRH35A 109 -
s 100 3 | 95 oo BN MIOKIS oo MGXI | B 65 34 29| 80 9XIXD
BRH45A 1382 =
BRH45AL 60 120 | 375 14 16 100X80 MI2XIS 1298 MEX1 10 | 13 45| 38 | 105  14X20X17

Mbodel No.
BRHI5B 28 34 95 46 66 | 26X26 M4AX64 40 @3 83 5 |15 |14 | 60 4.5X7.5X5.3
BRHZ20B 778 | 32X36 4838
BRI 30 44 12 5 e s M5X8 S M6X1 7 |65 20 18 6 6X9.5%8.5
BRHZ5B 88 | 35X3s 5T
S 40 48 12.5 7 e M6X9.6 [es M6X1 118 65 23 22 | 6 TX11X9
BRH30B 109 | 40X40 2

................... 45 60 16 9 ---o--- M8X128 - - M6xX1 10 14X12
BRH30BL 1313 | 40X60 943 s 2
BRH35B 109 | 50X50 . 80
ShEs 55 70 18 95 T MEX12.8 g Mé&X1 15 | 65 (34 |29 | %0 oX14X12
BRH45B 1382 | 60X60 105

------------------- 7 | 8 | 205 | 14 - MLOX16 - MEX1 18 38 1 14X20X1
BRH45BL 163 | 60X80 1298 7SR f

Basic Load Rating Static Moment
(Kgh (Kgf*m)

BRH15A 4000 20 850 1650 10 8 8 0.21 1.4
----- Shlolln B et e S S
vvvvv Ra] w | o [-284-2 X R A
----- I e T e
~~~~~ | | -2 BBt
----- el [en i E B s | o

Static Moment
(Kgf*m)

BRH15A 4000 20 850 1650 10 8 8 0.19 14
----- e e e e e e
~~~~~ I e e e ST
----- Il e e
~~~~~ NI e S S
----- LI B e e e e

[ Please refer to the [ Assembly Suggestions | for screw specification.
[B] The dimension G is customized. With no specific request, the G values on both ends will be the same.



BRH-C&CL

s /-/;MNI. N'- " f & Lmax ) i
I N I P e o Ty s
@ Lo O =0 0 el ot i TR : E g
@ = Q T 4-MQ — 2-MQl 7 = ‘ _L S I sl
T . | i 5 2/ L L] |HIGT P
I J_Fg [T % [T % ‘F J ‘""Q\"L .
‘ W2 — W1—1 = | }._Hagd = _g % gi
f F { L [ [ 1]

Mbodel No.
il hole Tl
______ g Es:g_;_:%?‘ o 33 48 125 7 i %-si' |5 _ ! M6X84 L :3;:3 - M&X1 48 65 23 22 60 TX11X9 BRIIISC 24 47 16 456 &6 38X30 m 40 o3 43 s 15 14 | 60 4 5X78X53
L] BRH20 778
...... BRS30B 108 40x40 Ll Bmca‘ 300 6 25 5 "o 55X40 @55X9 g‘: M6X1 5 65 20 18 60  6X95X85
______ BRS30BS 42 60 16 | 9 756 40X- | MBXI12 386 = MeXI1 7 65 28 26 80  9XI14X12 e - =
BRS30BL 1313 | 40X60 [sas | | | L e e % |0 B/S 7 o sTKs | gTXiz ol MSXL |5 |65 3 2 & TXIIX9
BRS35B 109 | 50X50 80 BRIH30C 109 n
______ BRSISBS | 48 | M0 18 | o5 | AT SO amxuz | 47 mea | s 65 % 2 B 9KiexD e 2 e e e A
BRS35BL 1348 | 50X72 1053
...... BRSAB ... LB ST (e 13 |45 (38 |1 14X20X1
S 60 | 86 | 205 | 14 ol MIOKIM o MEXL | 85 13 45 38 10 7

5 2 Basic Load Rating Static Moment
Ref.Data Basic Load Rating Static Moment Model No. U] (Kgf*m)

(mm) (Kgi*m)
© My




Model No.

BR block
{(mm)

Ollhole TI1

BR rail

™ WL H F

(mm)

dXDXh

Méx1 48

Static Moment

(Kgf*m)

: £ 017
_____ BRS2SA | 0 2140 [ I T [ e e T a6
BRS25AS 1190 20 17.5 17.2 033

f-HI— }+T 3

BR rail
{(mm)

Oflhale T1 (N) wi HL F

Static Moment
(Kgf*m)

ﬁr;lj 2MQ

f—BL— p—T1 g
B

J g

Maodel No. (m)
F10). 94 Ll #AA=r TI @) W1 H
BRS20CS 195 57 49 | $55X7 28 M6X1 5 6520 18 |60 6X95XE5
BRS25C 88 | 60X35 57
------------------- 25 X9 o MEX 43/65 B3 22 0 TX11X9
BRS25CS =l el ® 315 !
Weight
Maodel No. (Kgh igh
© TRyTKeh  L—iLKetM)
20 £30 1470 12:6 10.3 10.3 017 26
.. BRSZSC 2 2190 400 | 36 | 2 5L -
BRS25CS 1190 2230 20 17.5 17.2 033 ie




PATENT

Dust-gmnf
State-of-the-art desig
Sturdx and Durable

TL=L+12

{
{

—

World patent designs of ol tank.
Block Dimiension(mm) Tank Capacity No hubrication piping work and units is required,
W H L2 ee Environmental
BRIST 33 19 45 7.36 No ol leakage. Finished Product
BR20T 41 22.5 50 11.42 Keep the surroungings of machines and equipments clean.
BR235T 46.8 25.5 60 18.3 ”
BRIOT | 555 | 315 70 40.91 Lo —
BR35T 68.8 47.5 80 58.36 Save the cost of lubricant through eliminating waste. Cover Strip Dimension(mm)
BR4ST 84 45 100 117.46 Long intervals between maintenance, reducing the cost for repair.
L T
BR15 10
Life Time Adapted Type BR20 13 l..Supg;i;dinboxes
Speed Life Time BR25 15 50M 0.3 NS per boudle.
Heavy Load 18.6kN 50m/min 1100km BR30 20 2.Can be cut off into
Medium Load 9.3kN 60m/min 8700km All BR Series BR35 24 BT
Light Load 1.4kN 300m/min 30000km BR45 32
Note If using in special environment, pleasec contact ABBA,
[ Remark ; For any detail of assembly procedure, please refer to the instruction on the box, or contact ABBA.,

(B Remark : For any furthur information, please contact ABBA.




Ball Screw L —p——

SET R 025 C5 1000 PO
Axial clearance and preload code
Overall length of shaft(mm)
Accuracy grade code
Process code
Flange type
No. of Turn(Circuits) or Torn x Row
Lead(mm)
Shaft dia.(mm)
Direction of helix
Nut type codes
High Precision
CNC Production Equipments
T: | T type mut R : Right
S: Single nut : With flange I: | Itypenut
S F T D: | D type nut L: Left
E: | E type mt
D:| Doublenut C: | Without flange K: | Ktypemt
|| U: UDIN mut
(SFI ~ DFI ~ SFT + DFT - SFE - SFK)

Y

T: 1 N: Not cutting
T A: 1.5¢or 1.7) S: | Single cutting
B: 25 D: Double cutting
C: 35
ex : (B2=2.5x2)

pear g

Co C1 C2 C3 C5 C7 Cl0

F: L Rolled Axial clearance and preload code

PO P1 P2 P3 P4




Mean Travel Deviation ( =E ) and Travel Varition(e) (58 1192)

Grade
Over ingl
100

100 200
200 315
‘gn 315 400
Sf 400 500
E 500 630
E 630 800
800 1000
1000 1250
1250 1600
1600 2000
2000 2500
2500 3150
3150 4000
4000 5000
5000 6300
6300 8000
8000 10000
10000 12500

Variation per 300mm (ex0) and Wobble Error (e: ) (JISB 1192)
R 8 B B B A kD

€2z

Combination of Accuracy Grade, Preload and Axial Play
N Em BB B 24 )

Axial Play

Preload

unit:zm

EE S EE B KR G GO

3.5

2.5

No

TE

35

4.5
[

10
1
13
15
18
22
26
30

5

4

MoQe -1 N WU WUn th o th th o

P e e e
o ot w e =

No

TE
8
10
12
13
15
16
18
21
24
29
35
41

28 28 3

110

Light

TE
18
20

115

320

18
18

18
20
20
23
25
27
30
35
40
46

& 2

115
140
170

Medium

e300

e300

unit:zm

Heavy

Guidelines for selecting Accuracy, Preload, Axial Play, Nut and Screw shait.

Preload and Axial Play

C10 PO(With Axial Play)
C7 P1 or PO
C5 P1 or P2(Standard)
C3 P1 or P2(Standard) or P3
Axial Play (P0)

Clearance in the Axial Direction of the Rolled and Ground Ball Screw

Rolled Ball Screw
Clearance in the Axial

Screw Shaft OD

04-14 miniature ball screw
15-40 middle size of ball screw

50-100 big size of ball screw

Single Nut

Ground : According to
ABBA Catalogues

Rolled : single nut

Ground : According to
ABBA Catalogues

Rolled : single nut

Ground : According to
ABBA Catalogues

Rolled : single nut

frection(max.)

0.05
0.08
0.12

Rolled screw shaft

Rolled or Ground

Ground screw shaft with
lzad error inspection certificate

Ground screw shaft with
lead error ingpection certificate

Groung Ball Screw

Clearance in the Axial

Direction (max.)

0.015
0.025
0.05

Spring Force of Light Preload (P2)

unit:kg

1605
2005
2505
3205
4005
2510
3210
4010
5010
6310
8010

0.1~0.3
0.1~0.3
0.2~0.5
0.2~0.5
0.2~0.5
0.2~0.5
0.3~0.6
0.3~0.6
0.3~0.6
0.6~1.0
0.6~1.0

0.3~0.6
0.3~0.6
0.3~0.6
0.5~0.8
0.5~0.8
0.5~0.8
0.5~0.8
0.5~0.8
0.8~1.2
0.8~1.2
0.8~1.2




TYPE:SFI TYPE:DFI

£

Unit: mm Unit: mm

Number of Basic dynamic Basic Static Rating Number of Basic dynamic Basic Static Rating
: K : Stiffness(Kg/um) Ca: Coa: n: Ca: Coa:
) Circuits Rating Load (Kgf) Load(Kgf)

I:Load Da:BallDia n .
Circuits Rating Load (Kgf) Load(Kgf)

I:Load Da: BallDia K : Stiffness(Kg/  m)

Dimensions

Dimensions

Model No. Model No.

n I n
SFI1604-4 4 2381 |30 49 10 45|39 (34 (45| 8 (45 M6 4 640 1340 | 16 DFI1604-4 4 238130 | 49| 10 80 39 34 45 8 |45 M6 | 4 640 | 1340 | 35
SFII605-4 16 S 3175 30 49 10 50 39 34 45 8 |45 M6 4 780 1790 20 DFI1605-4 | 0|5 3175 30 49 10 100 35 34 45| 8 45 M 4 780 1m0 | 36
% SFI1610-3 | |- 10 3175 34 58 10 57 45 34 55 95 55 M6 3 | 83 | 1249 15 DFI2004-4 4 2381 34 57 11 80 45 40 55 95 S5 M6 4 670 1480 4l
SF12004-4 4 2381 34 ST 11 46 45 40 55 95 55 M6 4 610 1480 25 S DF12005.4 0|5 3175 34 57 11 101 45 40 55 95 55 M6 4 1130 2380 45
*---S-i?-l-é-u-(-)-s-;""ﬂi 5- -'-3.1753‘1“5'}-]1-;; -:1'-5:- -;;]““5-.-5““9-.-5“--;.-5“--:-b;.[-ﬁ--“‘;"“]ji;d""é-sgé-""2;5"- DFI2504-4 4 2381 40 63 | 11 B0 | 51 |46 |55 95 |55 M6 | 4 760 | 1950 48
s SFI205T-4 5083175 34 57 11 51 45 40 S5 95 55 Ms 4 1130 2380 25 S DFI2505-4 25 5 3175 40 63 11 101 S1 46 55 95 55 M8 4 1280 3110 63
SF0O2504-4 4 .2331 40:63 11 46|51 46 55 95 |55 M6 4 760 1950 @ 31 5;155-1-0:“4 """"" ib‘";’_}gi";ﬁ"";z""lvz"'1'4:5""5'8_'52"'6"5"1'165"M'64 ''''' l-é;‘-‘;";é:f;“”é;"
Y SFI2505-4 25 5 3175 40 63 11 51| 51 46 55 95|55 M6 4 1280 3110 35 DFI3204-4 4 2381 46 T2 12 80 58 52 65 11 65 M6 4 860 3050 S6
SFI2510-4 | 10 4762 46 72 |12 85 S8 52 65 11 |65 M6 4 |14 | 3877 | 33 J DFI3205-4 32 5 3175 46 72 12 102 58 52 65 11 65 M8 4 1450 4150 T2
 SFI3204-4 4 2381 46 72 12 47 58 52 65 11 65 M6 4 860 3050 40  DFI3210-4 | 10 635 54 88 15 162 70 62 9 14 85 M8 4 330 7170 72
K SFI3205-4 32 S 3175 46 T2 12 52 58 52 65 11 65 M8 4 1450 4150 40 J DFI4005-4 5 3175 56 90 15 105 72 64 9 14 85 M8 4 1610 5330 98
SFI32104 | 10 635 54 88 15 90 70 6 9 14 85 M8 4 3390 7170 40 S DFi4o1o-4 0|10 635 62 104 18 165 8 70 11 175 11 M8 4 3910 9520 %0
K SFu00s-4 | ___s__q_:'{._l_?g___:_;fs__:_?9___!{___:_,;___?_z__ 6 9 14|85 M8 4 1610 5330 49 DFIS010-4 50 10 635 72 114 18 171 92 & 11 175 11 M8 4 4450 12500 117
J  SF14010-4 10 635 62 104 18 93 8 70 1l 175 11 M8 4 3910 950 50 s DFI6310-4 63 10 635 85 131 22 182 107 95 14 20 13 M8 4 | 5070 16600 114
SFIS010-4 |50 10 635 72 114 18 93 9 8 11 175 11 M8 4 4450 12500 65 Y DFIS010-4 80 10 635 105 150 22 182 127 115 14 20 13 M8 4 5620 21300 162
K SFIE310-4 6310 635 85 131 22 98 107 95 14 20 13 M8 4 5070 16600 80 P,
S SFIS010-4 |go 10 635 105 150 22 98 127 115 14 20 13 M8 4 5620 21300 90

Note:with sign + can produce left helix




TYPE:DFU(DIN 69051 FORM B)

o @_‘u i
B —t P
- | 8 L
L ol
Unit: mm Unit: mm

Ca =Banc dynamic Ciai Basic Static Rating

. — Number of
Rating Load (Kgf) Losd(Kgf)

: Ca :Baslc dynamic Cou Basic Static Rating
Circuits

I:Toad Da:BallDia n K : Stiffness(Kg/ | m) s
Rating Load (Kgf) Lead(Kgf)

I:Load Da:BallDia K : Stiffness(Kg/ |1 m)

Dimensions

Dimensions

Model No. Model No.

H n n

_SFU1604-4 | | 4 |2381 28 48 |10 |40 38 |55 44 (40 M6 4 629 1270|355 DFU1604-4 | 4 2381 28 48 10 80 |38 S5 44 40 M6 4 629 1270 35

_SFU1605-4 |16 5 |3.175 /28 48 |10 |50 38 |55 44 (40 M6 4 780  17%0| 20 DFU1605-4 |16 5 3.175 28 48 10 100 38 |55 44 | 40 M6 4 780 | 1790 20

* S8FU1610-3 ' 10 3.175| 28 |48 |10 |57 |38 55 44 40 M6 3 721 1249 | 15 * DFU1610-3 10 '3.1‘?5 28 48 10 (118 | 38 |55 | 44 40 !rMG 3 '721 1249 | 15

_SFU-2004-4 .-f‘.-i.%.%%.‘-..?.6.--.5§_.19---5‘.%---9?.-.E-.‘.---_S_l ______ 4 M6 | 4 6% |1617] 41 _DFU-2004-4 |, 4 2381 36 58 10 80 47 66 51 44 M6 | 4 699 | 1617 41

Y SFU-2005-4 5 3175 36 58 10 51 47 66 51 44 M6 4 1130 | 2380 25 Y DFU-2005-4 ~ 5 3175 36 58 10 101 47 |66 51 44 M6 | 4 1130 2380 25

_SFU-2504-4 | | 4 (2381 40 62 10 (42 |51 66 55 48 |M6 | 4 | 777 | 2052 48 _DFU-2504-4 | | 4 2381 /40 62 10 |80 51 66 55 48 |M6 | 4 | 777 2052 48

H SFU-2505-4 | |5 3175 40 62 10 51 |51 66 55 48 M6 4 1280 3110 35 % DFU-2505-4 | | 5 (3175 40 6210 101 51 |66 55 | 48 | M6 | 4 1280 3110 35

_SFU-2506-4 25 6 3969/ 40 62 10 |54 | 51 66 55 48 |Mé 4 1528 3284 40 DFU-2506-4 |25 6 3969 40 62 10 105 51 66 55 48 M6 4 1528 3284 40

_SFU-2508-4 =~ 8 4762 40 62 |10 63 51 66 S5 48 M6 4 1941 | 383 38 DFU-2508-4 8 4762 40 62 10 120 51 |66 55 48 M6 | 4 1941 3863 38

SFU-2510-4 10 4762 40 62 12 8 51 66 55 48 M6 4 1944 | 3877 33 'DFU-2510-4 @ |10 4762 40 62 12 145 51 |66 S5 48 M6 4 1944 3877 33

SFU-3204-4 4 2381 50 80 12 44 65 9 71 62 M6 4 871 | 2661 56 DFU-3204-4 4 2381 50 8 12 8 65 9 71 62 M6 4 871 2661 56

| | | Y DFU-3205-4 | | 5 |: 3175 50 80 12 102 65 9 71 62 M6 4 1450 4150 40

'DFU-3206-4 (32 6 3969 50 80 12 105 65 O 71 62 M6 4 1720 4298 47

'DFU-3208-4 =~ 8 4762 50 80 12 122 65 9 71 62 M6 4 218 SO79 44

| DFU-3210-4 10 6350 50 8 12 162 65 9 71 62 M6 4 3390 7170 79

SFU-3220-3 20 3969 50 80 12 99 65 9 71 6 M6 3 1354 3283 52 Y DFU-4005-4 5 3175 63 93 14 105/ 78 9 815 70 M8 4 1610 5330 49

Y SFU-4005-4 | |5 (3175 63 93 14 55 78 | 9 815 70 | M8 | 4 1610 5330 49 'DFU-4006-4 | 6 3969 63 93 14 108 78 | & 815 70 M6 4 1911 | 5458 55

_SFU-4006-4 |, ' 6 (3969 63 93 14 60 78 9 815 |70 M6 4 1911 | 5458 S5 DFU-4008-4 (40 8 476263 93 14 13278 | 9 (815 |70 M6 4 2435 6469 52

_SFU-4008-4 | 8 4762 63 93 14 67 |78 | 9 815 |70 | M6 4 2435 | 6469 | 52 Yr DFU-4010-4 10 6350 63 93 14 165 78 9 815 | 70 M8 | 4 3910 9520 50

SFU-4010-4 10 6350 63 93 14 93 78 9 8.5 70 M8 4 3910 9520 50 DFU-5010-4 50 10 6350 75 110 16 171 93 11 975 85 M8 4 4450 12500 65

SFU-5010-4 50 10 6350 75 110 16 93 93 11 975 8 M8 4 4450 12500 65 Y DFU-6310-4 63 10 6350 90 125 18 182 108 | 11 110 95 M8 | 4 5070 16600 80

# SFU-6310-4 63 10 6350 90 125 18 |98 108 11 | 110 95 M8 4 5070 16600 80 + DFU-8010-4 80 10 6350 105 145 20 182 125 1351275 110 M8 | 4 5620 21300 90
Y SFU-8010-4 80 10 6350 105 145 20 98 125 1351275 110 M8 4 5620 21300 90

Note:with sign « can produce left helix
Note:with sign + can produce left helix




TYPE:SFT F @ @45 TYPE:DFT

_— @ OilHole _']5[‘_
-] j
1

st o
S )N 77NN/

P
DN GG S
Q. £
. H B _65 2] .
Unit: mm Unit: mm

I:Load Da:BalDia m: "Prol K. Stiffness(Kg/pm) C; Dre Symamtc Clon: e Satc Rating :Losd Da:BallDis n: Pl K. Stiffness(Kg/pm) s D dynammic Cog: D StticRating

08 : H
Circuits Rating Load (Kgf) Load(Kgf) Circuits Rating Load (Kgf) Load(Kgf)

Dimensions

Model No. Model No.

SFT2005-5 20 5 (3175 44 67 11 57 55 52 S5 95 55 M6 25x2 1546 3068 37 DFT2005-5 (20 5 3.175 44 67 11 105 55 52 55 95 55 M6 2.5%2 1546 3068 75
SFT2505-5 | 5 3175 50 73 11 55 61 52 55 95 55 M8 25x2 1690 4460 46 DFT2505-5 5 3175 50 73 11 105 6l 52 55 95 55 M8 25x2 1690 4460 89
SFT2510-2.5 10 6350 68 102 15 70 84 8 9 14 B85 M8 25x1 240 4730 26 e 105250 s imoal v o ea L @l o el es (s sl sanliarsoll 2
SFT3205-5 5 3175 58 85 12 56 71 64 66 11 |65 M8 25x2 1880 5720 | 55
........................................... DFT3205-5 5 3175 58 85 12 106 71 64 66 11 65 M8 2.5x2 1880 5720 | 108
SFT3206-5 6 3969 6289 12 |65 75|68 66 11 |65 M8 25x2 2520 7080 | 56 ceceeeeceeecceeed feee O S AT S e e s CETEES EUEES ERERE B e
) e e e e i e T e DFT3206-5 6 3969 62 89 12 123 75 68 66 11 65 M8 25x2 2520 7080 | 111
SFT3208-5 32 8 (4762 66 100 15 82 82 76 9 14 85 M8 25x2 3230 8360 58 ool L st Bed o Lo ool el e et el sl ol Ml bl N
SFT3210-5 10 6350 74 108 15 96 90 82 9 |14 9 | M8 2.5x2 4820 11500 63 Dokt A BiIRT0] oF BUOY) 1F [O8) 02 TN S L &3 TMG e ) Bael 1S
SFT3220-2.5 20 6350 74 108 16 100 90 8 9 14 85 M8 2.5x1 2680 6020 30 i < 1a ey Ml ) B o s | il Bl ol i i [
SFT4005-5 5 3.175 67 10]‘ 15 ‘59 83 72‘ 9 14 85 M8 25x2 2026 7200 66 DFT3220-2.5 20 [6350 74 108 16 198 90 | 82 9 | 14 85 M8 2.5x1 2680 6020 60
SFT4010-5 40 10 6350 82 124[18 100 102 94 11 175 11 M8 25x2 5300 14000 72 DFT4005-5 5 3175 67 101 15‘109;83 .72‘ 9 14 85 M8 25x2 2060 7200 130
SFT4020-2.5 20 6350 82 124 18 100 102 90 11 175 11 M8 25 2970 7370 38 DFT4010-5 40 10 6350 82 124 _i_é_[ié_é 102 94 11 175 11 M8 252 5300 14000 141
__sf_?_s_?_l_?_'_ff____so 119 fieasndl s Hs R (KA WY S8 A8 105 THLL J AREEISEaband: [ ESO000 | 928 DFT4020-2.5 20 6350 §2 124 18 200 102 90 11 175 11 M8 2.5x1 2970 7370 75
SFT5020-2.5 20 9525 105 152 28 121 128 110 14 20 | 13 M8 2.5x1 7400 18700 45 o |

e B el DFT5010-5 10 6350 93 135 18 193 113 98 11 175 11 M8 2.5x2 5940 18000 170
SFT6310-5 10 6350 108 154 22 105 130 110 14 20 13 M8 25x2 6550 22700 107 o | Y p—. - I s O [ 1 (| Y A
------------------- e e R e B e e e e e e e e DFT5020-2.5 20 (9.525 105 152 28 225 128 110 14 20 | 13 | M8 2.5x1 7400 | 18700 90
SFT6320-2.5 20 9525 122 180 28 127 150 130 18 26 18 M8 2.5x1 8110 23200 73

el oo el DFT6310-5 63 :
SFT8010-5 10 6350 130 176 22 105 152132 14 | 20 13 M8 2.5x2 7200 28900 129 10, 560 201\ 108 o3 54 22 1[99 150 TLOJ VAR 20, QTS 0[S | 29udy 6330, 1322700, 0200
SFT8020-5 |80 20 9.525 143 204 28 180 172 148 18 26 18 MS 2.5x2 16700 60100 175 B owdol I o o i o s B i ol i | ot i W8
'SFT8020-7.5 | | 20 9.525 143 204 28 240 172 148 18 26 18 M8 2.5x3 23500 89100 252 DFT8020-5 20 9525 143 204 28 340 172 148 18 |26 18 M8 2.5x2 16700 60100| 330




TYPE:SFE 7. T8 TYPE:SFK

d=20 d=<16
_: : \(56/ . Q Oll Hole *ﬁ* \(yﬂ %
RS o] Gaey 1 [ Lo
) 0 1 A ¥
o (O Wer— 1+ (O} Mo
Sl Qg e & S s
L H _Q_J thr H 5
L L
Unit: mm Unit: mm

: N:nnber of . Stiffness(Kg/pm) Ca =Bﬂic dynamic Con Basic Static Rating

. Number of 5 _Basic dynamic . Basic Statlc Rating
g K: Stiffness(Kg/pm) Ca: Coa LR Hattag Lond oR i

Circuits Rating Load (Kgf) " Load(Kgf)

I:Load Da:BalDia n

I:Lload Da:BallDia n

Dimensions Dimensions

Model No. Maodel No.

SFE1616-3 16 2778 32 53 96 10 38 45 42 | 34 M6 |L7x2 | 650 1280 19 SFK0401 |4 1 08 10 20 3 12 15 14 29 2 | 4 51
................... 16 [AVENYTeRs WIS GEITTAIE FIOWIUND BONRresers TRIRTe e MyGITyed SRTTNCraed UETenousaaesery [HURIPOE e PTTSEGII PR WUPIIenrere sy (NS L (IRUREETINLIe EhIpme s aperen
SFE1616-6 16 2778 32 53 96 10 38 45 42 | 34 M6  L7x4 1180 2550 36 SFK0601 6 1 08 12 24 35 15 18 16 34 3| 7 121
SFK0801 1 08 14 27 4 16 21 18 34 4 9 173
SFE2020-3 e IO T e e 0000 ] e e
................... el sl s e Do e e o e (e SFKO802 |8 2 12 14 27 4 16 21 18 3.4 3 135 225
SFE2020-6 20 3175 39 62 115 10 47 55 50 41 M6 1.7x4 1780 4280 49 st PR el Y e - e
SFE2525-3 25 (3969 47 74 13 12 57 66 60 | 49 M6 17x2 | 1470 3350 31 SFK 1002 2 | 12 |18 |35|5 |28 |27 (22 |45 3 185 305
___________________ it [eemedlessm ol dadailad el lime e lisen bl alio s et s et o
___________________ 25 I F—— Crag— yp—— S——— E————— Gp— E——— Pp—— S——— R FEp——— I ——— R ————
SFE2525-6 25 3969 47 |74 13 | 12 57 66 60 | 49 M6 17x4 2660 6690 60 SFK1004 4 2 (26 46 10 34 36 28 |45 3 35 590
SFK 1202 2 12 20 37 5 28 29 24 45 4 | 113 317
SFE3232-3 L L I R T e e 00000 o L
------------------- T e e il S D R R T St e e s B T SFK1204 (12 4 | 25 24 40 6 28 32 25 3.5 3 | 454 722
SFE3232-6 32 4762 58 92 16 12 71 9 74 60 M6 1.7x4 3890 10500 76 Sy (et ey e el o riey oty g el o o
SFE4040-3 40 (6350 73 114 19 15 89 11 | 93 | 75 M6 17x2 3410 8820 49 SFK1402 14 2 12 (21 40 6 |23 31 26 55 4 287 633
___________________ 40  ERESErers WIS LirEreem T Irereseee) DT oros SRSy SPrew wen UiTeamesprerecs [HIFOSran e MPresammn e Frerapraeesere (nsentaoren jeery SFSmmmsesmore ] ERgame s pnese
SFE4040-6 40 6350 73 114 19 15 89 |11 | 93 | 75 | M6 17x4 6200 17600 95 SFK1602 |16 | 2 | 12 125 43 10 |40 |35 |29 |55 4 253 670
SFK2002 20 2 12 50 8 15 55 65 68 65 105 6 M6 6 397 1269
SFE5050-3 50 7938 90 135215 20 107 14 112 92  Mé 1.7x2 5100 13800 60
................... oo o i v e i e ol oo | e il bl R SFK2502 2 12 50 80 13 43 65 68 65105 6 M6 5 375 | 1331
___________________ 250 N R | N0 RGN | oo SO G| et RO | sind| AR S) ols| SR | PN | S mimimn
SFE5050-6 50 7938 00 135215 20 107 14 112 | 92 M6 17x4 7260 27600 117 s Pl D P BT S e S e g i T e el s
Note 1:"-3" means 2starts, "-6" means 4 start. Note:1 Nuts do not have zeals from 24 to 6.

Note:2 ABBA Standard nuts are no wipers, if required, please advise.

Note 2: ABBA standard nuts do not have wipers, if required, please advise. .
Note:3 Nuts do not have oil hole from ¢4 to #16.




TYPE:SCI TYPE:SFM&DFM
z
5 SFM
>] - %::'zf
Used for Milling Machine Only |
e A
=
» A 3
L B
L
Unit; mm .z DFM
I:Load Da: Ball Dia n:Nm”f a na:nasieStatlcRaﬂng > [
Circuits Load(Kgf) EL i
| -
Model No. . @ ;\:;;lg a
I n - W T
SCI-1604 4 (238130 |40 | 9 |15 | 3 15 4 | 640 1340 16 =
------------------- 1 S T S s Tt S o2
SCI-1605 5 3.175 30 45 9 20 5 3 4 780 | 1790 | 20 S
SCI2004 4 2381 3 4 9 15 3 1S 4 60 uw 23 e .
4  SCI-2005 5 (3175 34 (45 9 | 20 5 3 4 1130 2380 25
SCI-2504 4 (2381| 40 |40 | 9 | 15 | 3 15 4 | 760 1950 31
SCI-2505 25 s 3175 40 | 45 9 20 5 3 4 | 1280 3110 @35 . . . Number of - , Basic dynamic , Bayic Static Rating
* ____________________________________________ .. ‘ _________________________________________________ I:Load Da:BallDia n.mﬂ“ K : Stiffness(Kg/ i m) C"Raﬁnngd(th) Cna.Lud(Kgo
SCI-2510 10 4762 46 8 | 13 30 5 3 4 194 3877 33
SCI-3204 4 (2381 46 |40 | 9 | 15 | 3 | 15| 4 | 80 | 3050 40 Model No.
%  §CI-3205 32 | 5 (3175 46 |45 | 9 | 20 | 5§ 3 4 1450 4150 40 D | A|B|L|W |H |X |Y |[Z |Q |a |Ca
___________________________________________ Se= L bt o S et SRV e e et i L |
| o 10 /635 | 54 |8 |13 |30 |5 | 3 | 4 |39 7170 40 J  SFM3205.4 32 5 3175 48 74 12 52 60 60 65 11 65 M8 4 | 1450 4150 | 40
%  SCI-4005 - 5 (3175 5 |45 9 | 20 5 3 4 1610 5330 49 —
* SCI-4010 10 | 635 | 62 85 13 30 5 3 4 3910 | 9520 @ S0 * SFM325T-4 |32 5.08 3.175 48 74 |12 53 .60 ‘60 65|11 65 M8 4 1450 | 4150 | 40
sl A A e [ (e et e B J DFM3205-4 32 5 3175 48 74 12 (102 60 60 65 11 65 M8 4 | 1450 4150 72
Y SCI-6310 63 10 635 8 8 13 30 6 35 4 | 5070 16600 80 —
J  SCI-8010 80 10 635 105 85 | 3 | 30 | & | 45| 4 | se20 |21300] %0 Y DFM325T-4 32 508 3.175 48 74 12 104 60 60 65 11 65 M8 4 | 1450 4150 72

Note:with sign # can produce left helix Note:with sign # can produce left helix



ABBA

LinearTech

Support Unit
of Ball Screw

Recommended Shaft End Shape

For Support Unit Type BK and FK and EK Fixed Side

= v =
2 S
= = . i
S
r E
Unit : mm
Support Unit model No. iﬂ;ﬁ"gg’ ngﬁgr‘:pggﬂ Metric screw thread
BK (Type BK) d A B E F M s

BK 10 12114115 10 8 39 15 M10X1 16

BK 12 16/18 12 10 39 15 M12X1 14

BK 15 20 15 12 40 20 M15X1 12

BK 17 25 17 15 53 23 M17X1 17

BK 20 28/3032 | 20 17 | 88 | 25 M20X1 15

BK 25 36 25 20 85 30 M25X1.5 18

BK 30 9 30 25 72 38 M30X1.5 25

BK 35 5 % 30 83 45 M35X1.5 28

BK 40 5055 | 40 35 98 50 M40X1.5 35

| Unlt : mm
Support Unit model No. B;:Lﬁcégv Sg:?ﬁﬁ?ggn Mefric screw thread
Type FK Type EK d A B E F M S

FK 6 EK & 8 6 4 30 8 M6X0.75
FK8 EK 8 10/12 8 6 35 9 M8X1 10
FK 10 EK 10 12114115 10 8 36 15 M10X1 11
FK 12 EK 12 14/15/18 12 10 36 15 M12X1 11
FK 15 EK 15 18/20 | 15 12 49 20 M15X1 18
FK 20 EK 20 25/28/30 20 17 64 25 M20X1 17
FK 25 = 30/32/38 25 20 78 30 M25X1.5 20
FK 30 — 36/40 30 25 72 a8 M30X1.5 25




Fixed Side

4-) drll through @Y countsr bore depthd

T1

| 181
b ] Type EF
Type FF Type FF Type BF Unlts i
Support Unit model No. Ball Screw shaft OD Shaft Support Portion OD
Type FF | Type EF Type BF d A E
FF 06 EF 08 - 8 6 8
FF 10 EF 10 BF 10 12/14/15 8 10
FF 12 EF 12 BF 12 14/15/16 10 1
FF 15 EF 15 BF 15 18/20 15 13
- - BF 17 20/25 17 16
FF 20 EF 20 | (BF20)Note 25/28/30 20 19(16)
FF 25 - BF 25 30/32/36 25 20
FF 30 - BF 30 36/40 30 21
- - BF 35 40/45 35 22
- - BF 40 50 40 23
a g E
] s -
In this iable,dimensions in parentheses are those of
e d-4-— type BF20. Thess dimensions differ from those of
type FF20 and EF20.When placing an order,always
a3 spacify the modal number of tha Support Unit to be
progs used,
E Unit : mm

Support Unit model No. Snap-ring Groove

Type FF | TypeEF | TypeBF B F G
FF06 EF06 5.7 6.8 0.8
FF10 | EF10 BF 10 7.6 7.9 0.9
FF12 | EF12 BF 12 9.8 9.15 1.15
FF15 | EF15 BF 15 14.3 10.15 1.15

= - BF 17 16.2 13.15 1.15
FF20 | EF20 | (BF20)Note 19 15.35(13.35) 1.35
FF 25 ~ BF 25 239 16.35 1.35
FF 30 = BF 30 28.6 17.75 1.75

- - BF 35 33 18.75 1.75
- - BF 40 38 19.95 1.95

I
B3
I AR
a Q =
5 81 g &
| ([
H__L_ F
L
Unit : mm
Model No.  d1 i H F E Dg6 A PCD B L1 T X Y 4
FK5 5 | 185 | 8 | 108 | 185 | 20 | 34 | 26 | 28 | 685 | 35 | 84 | 65 4
FK8 6 20 7 13 2 2 3 28 28 55 35 34 65 4
FK8 8 23 0 14 28 28 48 35 | 35 7 4 | 34 | 65 | 4
FK10 10 | 27 | 10 | 17 205 | 84 52 4 | 42 | 75 5 | 45 | 8 4
FK 12 12 | 27 | 10 | 47 | 205 | 38 | 54 | 44 | 44 | 75 | 5 | 48 | B 4
FK 15 %6 | 3 | 18 | 17 | 38 | 40 | e3 | 60 | 52 | 10 | & | &5 | 85 | ®
FK 20 20 | 52 22 3 5 | 5 | 8 70 | €8 8 | 10 88 | 11 10
FK 25 26 | 67 | 27 | 30 | 0o | 63 | 88 [ 8O | 7 | 138 | 10 | @ B 13
FK 30 30 | .2 30 a2 61 75 | 117 | 85 83 1" | 12 1 [ 178 | 15
Floated Side
4-X drlll through @Y counter bore depthZ
a2
£ 8 7 &
=
-
!
H_|F
L
Unit : mm
H F Dgé A PCD B X Y
7 5 28 43 35 35 34 65 4
7 8 34 52 42 42 45 8 4
9 8 | 40 83 50 52 55 9.5 55
mn 8 | 57 8 70 a8 6.8 1 8.5
14 10 | 63 % 80 79 e 14 85
18 s | 7 17 | 95 83 1| 175 11




L2 Lz
4-X drlll through aY L2 L3
coum:arborrgugepzlz EK4 ~ 8 I
%ﬁtw
B1 L2 '-'L‘_| i E[
] — 2 e 1=
® ; e [P gy S = X drill through §Y 15{1’11::&.‘*_ /]
'i i %}j\ i‘ _EH}L _D{ EHAED K. & gi counder bore depthZ T
SHECOHO s — | crw i
T |
w ] T _R T | r ‘H HL =
= :I!___ L | | K% ] 2X gl through
B oLy
Rl o N 7R
Pl w IE x
i i Trarle | Il =
4-dd2 /| '
b Gl _|&% | 2 dill trough I | I
P |L1 L | rf b
B | |
| .
Unit : mm
002 | =000 Sl
ModslNo. d1 L L1 L2 L3 €1 €2 B H B*™H B1 HI E P d2 X Y 2 EK8.8
BK 10 10 | 25 | 5 |29 | 5 |13 | 6 |60 39 | 30 |22 34 325 15 46 | 55| 66 (108| 5 Unit : mm
BK 12 12 |25 5 29 5 13 8 | 60 43 30 25 35 325 18 468 55 66 10.8 15
BK 15 18 | 27 | 6 32 | @& 15 6 70 | 48 | 35 | 28 | 40 38 | 18 | b4 | 55 66 | 11 | 6.5 EK 5§ 5 16.5 55 | 185 | 35 36 21 18 11 20 8 o8 45 = =
BK 17 177 | 35 9 44 | 7 19 8 86 ©64 | 43 29 50 55 28 @68 B6 9 14 | 85 EK 8 6 20 55 29 35 4D 25 a1 13 18 20 an 55 95 11
BK20 |20 35 B8 43 B (19 | B 88 | 60 |44 |34 | 52 | 50 (22 | 70 |68 9 | 14 | B5 EK 8 8 23 7 26 4 52 ap o8 17 o5 | 28 as | 68 11 12
BK25 25 42 12 54 @9 22 10 106 80 53 48 B84 70 33 8 9 11 175 11 EK 10 10 | 24 6 295 @ 70 43 a5 25 36 | 24 52 9 = =
BK 30 30 45 14 61| 9 23 11 (128 89 | 64 | 51 | 76 78 | 33 (102 11 14 | 20 | 13 EK 12 12 24 6 20.5 6 70 43 a5 25 6 24 52 g - -
BK 35 35 &80 14 67 |12 26 12 140 9 | 70 52 88 79 | 35 (114 11 14 | 20 13 EK 15 15 25 5 as 5 80 40 40 a0 41 25 80 11 = =
BK40 |40 61 18 | 76 15 33 | 14 160|110 80 | 60 |100| 90 | 87 | 130 | 14 | 18 | 26 | 175 EK 20 20 | 42 10 | 50 10 05 58 | 475 @ 30 56 25 75 11 _ _
: ( Floated Side
2-X drill through Y counter borg depthZ
Bi 2-X ol through @ Y counter bove depth Z B 2-X drlll through
N 2
B1 - \
P : ' g
(137 ! -
: /_L\ T i‘ T T m T T e . ——6?)
& -6t T NN AC = 8
\ = 1] R | GE
w | £ glu H H o
| i = it | ik L |
1 3 Ay Clo | | I b
. | > 1 L] L | o
amz I L ‘ 5 : 5
L » |
} EF&, B EF10 ~ 20
P L
B Unit : mm Unit: mm
Model No.  df L B H B%% KF*® By H1 E P d2 X Y . Model No. H pacaa [ B1 H1 P X Y z
BF 10 8 20 80 ag 30 22 34 | 325 | 15 48 55 | 68 | 10.8 5 EF & 8 12 25 21 13 18 20 30 5.5 9.5 1
BF 12 10 325 | 1 . ; 10.8 ;
£ CC R A S0 RS SO AC S I A0 13 EF 8 6 14 52 a2 26 17 25 26 a8 6.6 11 12
BF 15 15 20 70 48 35 28 40 38 18 54 55 | 6.8 11 6.5
BF 17 17 | 23 86 64 43 39 50 85 28 68 6.6 9 14 85 EF 10 8 20 70 43 35 25 36 24 52 9 - -
BF 20 20 28 88 60 44 34 52 50 22 70 6.6 g 14 85 EF 12 10 20 70 43 35 25 26 24 52 9 ~ =
BF 25 25 30 106 80 53 48 64 70 33 85 9 1 175 | 11 EF 15 15 20 a0 49 40 30 41 on - g _ _
BF 30 30 32 128 | 89 64 51 76 78 a3 102 1 14 20 13
BF 35 35 32 140 9 | 70 52 88 79 35 114 11 14 20 13 EF 20 20 28 95 58 o = = 75 11 - -
BF 40 40 37 180 | 110 80 60 100 20 37 130 14 18 26 | 175




ABBA Linear Ball Bearing and Accessory
Slide Shaft

ABBA o

L tnear Te C h SF : Hardsen and ground
WYV: Harden ground and Chromium plated

Hv HrC
Hardness Depth (X0

Linear Ball

| || ,
Bearing Series
Material : CF53 Hardness: HrC60Up - \“;{
Surface finish : Ra 0.15 - 0.35 um = g
Shaft straightness : approx. 0.1 mm/m X
Outside | "> Inside
Unit : mm
d Length Hardness Depth
1500|2000 2500 3000 3500 4000 4500 5000 5500 6000 6500  (X)
* SF4 4 1.0
*  SF6 6 1.0
* SF8 |8 1.0
# SF10 |10 1.0
* SF12 |12 16
* SF16 |16 16
% SF20 |20 2.2
% SF25 |25 22
% SF30 |30 22
% SF32 |32 22
* SF40 |40 35
% SF50 |50 35

Note:With sign v can supply Chromium plated slide shaft (Model No:WV)



ABBA Linear Ball Bearing and Accessory
Standard Type

ABBA Linear Ball Bearing and Accessory
Standard Type

_-/_l 7/ \i i %YYYYYYYYY(KZ\; W
NN N N N N NN
AN A AN AN AN A AA A NAANANAANANA NN
N | —— SN | N W, ~ . ey LS
N Y Y Y Y Y YNYNYYY J Y ¥ ¥ Y Y Y Y Y YNYYYNYY }
| AN AN AN NN LA A A A A R A A A S G G sl
i r4 —~ - l—/ :—4 —
A~ | oA~
Unit : mm
Unit : mm
AR Basic Dimension W c,ﬁ:g:[ce (Kgf) Load weignt s : Xef) Load
odel No. C bimension 0a
DY s S e B D 1 um ma) | ca Coal (g) Model No. Weight
(pm} (um) um tolerance tolerance
B D A L B D1 Ca  Coa (9)
LM4UU | 4 | 8 12 - | - 8 -5 9 13 2
0 LM6LUU | 6 | 12 | © 35 1.1 11.5 32 53 18
LMBUU | 6 |12 19 11 115 12 -5 20 | 27 8
-11 LMBLUU | 8 | 15 | -13 | 45 11 14.3 44 80 31
LMBUU |8 (15 24 11 143| 12 -5 27 41 16 Y
0 LM10LUU | 10 | 19 55 1.1 18 59 | 112 62
LM10UU |10 (19 O |29 1.3 | 18 12 -5 38 55| 30 0 -30
-0.2 LM12LUU | 12 | 21 57 1.3 20 66 122 80
LM12UU |12 (21 -13 |30 1.3 20 12 -5 42 | 60 | 31.5 -16
LM16LUU | 18 28 70 1.3 27 125 | 240 145
LM16UU | 16 |28 37 16 | 27 12 -7 78 |119| 69
LM20LUU | 20 | 32 80 1.6 30.5 143 | 280 180
LM20UU |20 (32 O (42 1.6 305 15 -9 83 | 140 87 0
LM25LUU | 25 40 112 0 1.85 38 159 | 320 440
LM25UU |25 (40 -15 |59 1.85 38 15 -9 100 | 159 | 220 -19
LM30LUU | 30 | 45 123 1.85 43 254 | 560 580
LM30UU | 30 45 64 0 185 43 15 -9 159 279 250 ~40
LM4OLUU | 40 60 O 151 21 57 350 | 820 1170
LM40UU |40 (80 O (80 -0.3 | 21 57 20 13 219 409 585
LM5OLUU | 50 | 80 | -22 @ 192 26 76.5 620 | 1622 3100
LM50UU |50 80 -19 100 26 765 20 -13 | 380 808 /| 1580
Note : UU with oil seals in ends

Note : UU with oil seals in ends




ABBA Linear Ball Bearing and Accessory
Flange Type

Unit : mm

Basic Dimension Ec?mliifw CIF;:EaI:Ica (Kgf) Load \yygiqpy
d | D/[Semes ([ (wnss) pyq fisnsl 1 PCD K (a1 (@2 [ b pm | M2 | ca Coa| (@

LF6UU |6 12 0-11|19 28 5 20 22 34 6.5 33 12 -5 200 206  26.5
LF8UU | 8 |15 0 24 32 5|24 25? 346533 12 -5 260 | 400 | 40
LF10UU (10| 18 13 29 40 6 29 30'4.5 8 44 12 -5 370 540 78
LF12UU |12 | 21 30 42 6 32 3245 8 44 12 -5 410 290 76
LF16UU (16 | 28 37 :0 48 -:2 6 38 37! 45 8 44 12 -7 770 1170 134
LF20UU (20 32 0 |42 54 8|43 425595 54 15 -9 860 1370 180
LF25UU (25 40 -16 |59 62 8 51 50‘ 55/95 54 15 -9 980 1560 340
LF30UU |30 45 64 74 10 60 58 6.6 11 8.5 15 -9 1560 2740 460
LF40UU 40 60 O |8)| 0 |9% 0 113 78 75[ 9 14 86 20 -13 2150 4010 1054
LF50UU |50 80 -19 |100| -30 |116 -0.3 13 98 92‘ 9 14 86 20 -13 3820 7830 2200

Note : UU-with oil seals in ends

ABBA Linear Ball Bearing and Accessory
Flange Type

Unit : mm

Basic Dimension Ee?reh:i::fitv chadial lgf) Load Weight
d | D Pl L (Sl s il PCD(K | di |22 | wum | T2 | ca Coa| (@

LF6LUU | 8 12 0 35 28 5 20 22346533 12 5 200 206 265
LF8LUU | 8 15 -13 45 32 5 24 25346533 12 5 260 400 40
LF10LUU | 10 19 55 40 6 29 3045 8 44| 12 5 370 540 78
LF12L0u | 12 21| | 87 42 6 32 3245 8 44| 12 5 410290 76
LF1eLUU 16 28 70 _20 48 :_2 6 38 3745 8 44| 12 7 770 1170 134
LF20LUU | 20 32 80 54 8| 43 42559554 15 9 860 1370 180
LF25LUU | 25 | 40 :9 112 62 8 51 505509554 15 9 980 1560 340
LF30LUU | 30 45 123 74 10 60 586611 65 15 9 15602740 460
LF40LUU|40 60 O 151 0 96 O (13 78 75 O 14 86| 20 13 21504010 1054
LF50LUU |50 80 -22 192 -40 116 -0.3 13 98 82 9 14 88| 20 13 38207830 2200

Note : UU-with oil seals in ends




ABBA Linear Ball Bearing and Accessory
Slide Shaft Support

ABBA Linear Ball Bearing and Accessory
Housing Type

LU/LP series

LP:No Linear Ball Bearing (Housing Only)
LU:With Linear Ball Bearing (LP+LM)

S 4-P depth:Q

DT ST SIS S SRS ST o I
SRS IRINIS
L "‘0..0.‘9‘0‘%"O‘OA\QAQ‘Q“A\Q‘QA%!‘.;‘4’“ S,

I ITIIS T

il uv’o'o'o'o'ol.oouli ! h /-— 2-8
{ | i/ |
F A 3 = = _f_ 1 1 ! :' : I 5
¢ sl Ifssessmesssstily L By i1
e SRR i |
|- | L1 | — W —
4-OUN hole :
B L
Unit : mm
e Basic Dimension Weight
: . odel NO.
Material:Aluminum Alloy Unit : mm p h L W H ¢ T L1 s @
Basic Dimension
Model No. weight SS4 4 | 20| 42 14 (328 6 |18 | 32 |55 | 24
d B C E FG002H | J N P  Q (
LUBUL SS6 6 |20 42 14 328 6 18 32 55| 24
LP8 62030 1815 9 625 15 M3 M4 8 34
LUSUU SS8 8 |20 | 42 |14 (328 6 | 18 | 32 | 55 | 24
¥ 82434 22 18 11 | 6/30 18 M3 M4 B8 56
LU10UU 8810 10| 20 42 14 |328| 6 | 18 | 32 | 65 24
gl 28 ST 2 AT VIR 22 50 el ke N e B SS12 | 12 23 | 42 14 375 6 20 32 55| 30
LU12UU 112305 42 29 (25 15 8|36 26 M4 M5 12 112 : '
LU16UU 5816 16 27 48 16 44 8 25 | 38 | 55 40
Lpie ~ |16/ 36 50 38535 19 |9 44 34 M4 M5 12 189 ey | ey Pl ey e ot ) g ey ey
5 H
Loa0U 12040 54|42 (36 21 1150 40 M5 M6 | 12 237
SS25 | 25 35 | 70 |24 60 12 38 56 66 | 130
LU2SUU |25 54 76 51.5 41| 26 12 67 50 M6 M8 18 555 2
LU0V 39 58| 78 50549 30 15 72| 58 M6 M8 18 685 2R ERNEAe S FOARIE20 | ETOS(CI20 SR R0oA ) SO 180
LUS0U |40 g0 102 78 62 40 |20 90 60 MB M0 25 | 1600 SS40 | 40 60 |114 36 96 15 80 90 11 | 420
LUSOUU 150100122/ 102/ 80 52 251110 80 M8 M10 25 | 3350 SS80 | 50 [ 70 [ 126 40 (120 | 18 [ 74 100 | 14 | 750




ABBA Linear Ball Bearing and Accessory
European Type

Model No.
d

LMESUU

LME12UU
LME16UU
LME20UU
LME25UU
LME30UU
LME40UU
LMES0UU

T - R
A A A XA A
TR - S —— - - = . o E
NN N NN N N NN
A apyd -
A~
- L -
Unit : mm
Basic Dimension 50?:;';‘)0“? chadial | gf) Load Weight
D L e B ID1| pm Lm | Ca Coa (@
8 16 0/-8 25 1.1 15.2 12 -5 27 41 20
12/22) 0 32| 0 13 | 21 12 -7 51 | 78 | 41
16/26 -9 36 -20 1.3 249 12 -7 58 | 91 | 57
20| 32 ; 45 1.6 30.3 15 -9 88 139 91
25 40 11 58 1.85 |37.5 15 -9 100 169 | 215
30 47 68 0 185445 15 -9 189 | 279 | 325
40/ 62 0 80 -30 215 59 17 -13 219 409 | 705
50 75 -13 100 265| 72 17 -13 | 389 808 1130

Note : UU with oil seals in ends

ABBA Linear Ball Bearing and Accessory
European Flange Type

Unit : mm
Basic Dimension Ec?mﬁj;ifiw chada . (Kef) Load Weight
d | D[] | [t pg Mo [ ylpep k[t [a2| b | wm | M0 | ca Coa|
LFESBUU | 8 |16 0/-8 25 32 5|24 25 34/6.5 3.3 12 -5 260 400 44
LFE12UuU (12 22| 0 |32 42 6 323245 8 44 12 -5 500 770 | 86
LFE16UU |16 26 -9 36 0 46 0 6 363545 8 4.4 12 -7 570 890 120
LFE20UU | 20 | 32 0 45 -20 |54|-0.2 8| 43 |42/55/95 54 15 -9 860 |1370 184
LFE25UU | 25 | 40 e 58 62 8 51505595 54 15 -9 980 1560 335
LFE30UU | 30 | 47 68 76 10 62 60 6.6/11 8.5 15 -9 1560 2740 545
LFE40UU |40 62 O (80 O 98 0 (138075 9 14 86 20 13 21504010 1185
LFES0UU |50 75 -13 100 -30 112 -0.3 13 94 88 9 14 8.6 20 -13  |3820/7830| 1730

Note : UU-with oil seals in ends






